> B(t) := A *cos(Omega * t)

i B(t)d Acos(Wt) (1)
> eq := diff(x(t), t, t) + 2 * delta * diff(x(t), t) + omega”2 * x(t) =
B(t)

_ eqd (;j—:zx(t)C Zd[%x(t)ijzx(t):Acos(Wt) (2)
(> sol := dsolve({eq, x(0) = x0, D(x)(0) = vO0}, x(t))

sold x(t)=L (e(LdC“‘ZLWZJt (wcalLae JEL w)) (wxoc (L xow (3)
L JdL w voc vodL A)WZC (2dx0C v0) (dc JdL wz)vvz)]/
[4 [d /dZL W2L ﬂzL dZC ﬁ]wz(dc W) (dL W)]C (e(LdL‘/dZLWZJt(

2 2
LWZC d(dC NI d2L WZ)) (L w4xOC (XOWZL J d2L w vOL v0dC A) w
C (2dx0C VO)VVZ(L dc JdL WZ)))/(4W2(dC w) (dL w) [d\/ dLw C %2

w ]] | A[L 2sin(Wt) wdC W cos(wt)L cos(wt)w)

2
Csz 4 2 2 2 2 4
WC4WdL 2Ww Cw

>
:> Explore(plot(op(2, sol), t=0..T))
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[> restart

[>

vO

x0

3.4

3.4

3.4

3.4

.01

.54




